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My own recollection is that | had not any high regard for my ability.
| used to be astonished whenever | won prizes and scholarships. But | very
jealously guarded my character. The least little blemish drew tears from my
eyes. When | merited, or seemed to the teacher to merit, a rebuke, it was
unbearable for me. | remember having once received corporal punishment.
I did not so much mind the punishment, as the fact that it was considered
my desert. | wept piteously. That was when | was in the first or second
standard. There was another such incident during the time when | was in
the seventh standard. Dorabji Edulji Gimi was the headmaster then. He
was popular among boys, as he was a disciplinarian, a man of method and
a good teacher. He had made gymnastics and cricket compulsory for boys
of the upper standards. | disliked both. | never took part in any exercise,
cricket or football, before they were made compulsory. My shyness was
one of the reasons for this aloofness, which | now see was wrong.

- ‘My Experiments with Truth’, Gandhiji
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1. Write an essay on any ONE of the following in 250 to 300 words. It must |f[57e o
exhibit your grasp and critical understanding of the subject in the best OELAR'EED
possible individual style having originality of thought and expression.

It must be well argued piece of writing coherently and sequentially with
observance of grammar rules. §CL AR/
TOTAL
. Female leaders are true talent agents, using feedback and direction to || [ MARKS: 20
help people grow.
Il.  Country’s success in manufacturing of covid vaccines exhibits India’s
emerging competency in pharmaceuticals and health science.
lll. Transformative learning, capacity building, creativity and adaptive
management, the holistic approach in New Education Policy (NEP
2020) of India.
IV. Yoga therapy helps to get rid of many physical and mental ilinesses.
V. Technological advancement and human life.
Ans:

2. Imagine that you are an officer on special duty at the battle against ||| A ag /
Covid-19 in emergency task force of Government of India. To fulfill the OMARKS.
mission your senior officer has sought your opinion about the most
essential and appropriate steps to be taken in situation of the pandemic. §C oL /
Write a letter to your senior officer giving your opinion in about 150 words. AR 1o
Ans:

Andie 2.l /

3. In about 150 words write a letter to the editor of the newspaper complaining ||| “parks.
about the danger of increasing chain snatching robbery incidents in your
city. You are Mr Madhav, resident of Green View Apartment, Green Acres,

. @ o8l /
Mandvi, Kutch. A
MARKS: 10
Ans:
4, National Road Safety Month was observed under the aegis of Ministry of ||| Qddet apa/

Road Transport and Highways from 18th January to 17th February 2021 in
order to create awareness among general public to improve the safety on
road. Your college observed the National Road Safety month and organized
various programs and activities about road safety to advocate this cause
among students, staff and general public. Write a report about the event in
about 150 words.

Ans:
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Numbers of photovoltaic cells are mounted on a supporting frame and
are electrically connected to each other to form a photovoltaic module or
solar panel as shown in the diagram below. Based on the principle of
photovoltaic effect, solar cells or photovoltaic cells are made; they convert
sunlight into direct current (DC) electricity. Picture explains how electricity
is harvested from the solar energy and how it is utilized. Summarize the
information by selecting and reporting description of the diagram in about
150 words.

Grld

W

Meter & Inverter
Fusebox (DC to AC)

| (OPTIONAL)

rome sppliances \/

TYPICAL GRID CONNECTING PHOTOVOLTAICS SOLAR SYSTEM

Ans:

To commemorate the unparallel contribution of Netaji Subhash Chandra
Bose to our great Nation, 23rd January, his birthday, is celebrated as
“PARAKRAM DIVAS.” Government of Gujarat organized National Youth
Conclave to inspire youth of the country, to act with fortitude in the face of
adversity as Netaji did, and to infuse in them a spirit of patriotic fervor. In
about 150 words draft an inaugural speech to be delivered on this occasion
by the Minister of Youth Affairs, Sports and Cultural Activities, Government
of Gujarat.

Ans:
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Write a précis of the following passage in about one-third of its original
length.

In the summer of 1988, sanitation workers across North India went on
strike. Their demand was simple: they wanted the federal government
to sponsor more episodes of a television serial based on the Indian epic
Ramayana. The serial, which had been running on India’s state-owned
television channel for more than a year, had proved to be an extraordinarily
popular phenomenon, with more than eighty million Indians tuning in to
every weekly episode. Streets in all towns and cities emptied on Sunday
mornings as the serial went on the air. In villages with no electricity people
usually gathered around a rented television set powered by a car battery.
Many bathed ritually and garlanded their television sets before settling down
to watch Rama, the embodiment of righteousness, triumph over adversity.
When the government, faced with rising garbage mounds and a growing
risk of epidemics, finally relented and commissioned more episodes of The
Ramayana, not just the sanitation workers but millions of Indians celebrated.
More than a decade and many reruns later, the serial continues to inspire
reverence among Indians everywhere, and remains for many the primary
mode of experiencing India’s most popular epic. The reasons for this may
not be immediately clear to an uninitiated outsider: the serial, cheaply made
by a Bollywood filmmaker, abounds in ham acting and tinselly sets, and
the long, white beards of its many wise, elderly men look perilously close
to dropping off. But it wasn’t so much its kitschy, Bollywood aspect that
endeared the serialization to Indians as its invoking of what is easily the
most influential narrative tradition in human history: the story of Rama,
the unjustly exiled prince. There is really no Western counterpart in either
the Hellenic or Hebraic tradition to the influence that this originally secular
story, transmitted orally through many centuries, has exerted over millions
of people. The lliad and The Odyssey are, primarily, literary texts, but not
even Aesop’s fables or the often intensely moral Greek myths shape the
daily lives of present-day inhabitants of Greece. In contrast, The Ramayana
continues to have a profound emotional and psychological resonance for
Indians. (From: The Ramayana: A Shortened Modern Prose Version of the
Indian Epic by R.K. Narayan), (365 words).

Ans:
Read the following passage carefully and answer the questions that follow.

True eccentrics never deliberately set out to draw attention to themselves.
They disregard social conventions without being conscious that they
are doing anything extraordinary. This invariably wins them the love and
respect of others, for they add colour to the dull routine of everyday life.

Up to the time of his death, Richard Colson was one of the most notable
figures of our town. He was a shrewd and wealthy businessman, but the
ordinary town folk hardly knew anything about this side of his life. He was
known to us as Dickie and his eccentricity had become legendary before he
died.
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Dickie disliked snobs intensely. Though he owned a large car, he hardly ever
used it, preferring always to go on foot. Even when it was raining heavily,
he refused to carry an umbrella. One day, he walked into an expensive shop
after having been caught into a particularly heavy shower. He wanted to
buy a £ 300 fur coat for his wife, but he was in such a bedraggled condition
that an assistant refused to serve him. Dickie left the shop without a word
and returned carrying a large cloth bag. As it was extremely heavy, he
dumped it on the counter. The assistant asked him to leave but Dickie paid
no attention to him and requested to see the manager. Recognizing who
the customer was, the manager was most apologetic and reprimanded the
assistant severely. When Dickie was given the fur coat, he presented the
assistant with the cloth bag. It contained £ 300 in pennies. He insisted on
the assistant counting the money before he left — 72,000 pennies in all!
On another occasion, he invited a number of important critics to see his
private collection of modern paintings. This exhibition received a great deal
of attention in the press, for though the pictures were supposed to be the
work of famous artists, they had been in fact painted by Dickie. It took him
four years to stage this elaborate joke simply to prove that critics do not

always know what they are talking about.

Questions:

1. The true eccentrics deliberately set out to draw attention to themselves

sometimes
always

seldom

oo w>

never
Ans:

Il. True eccentrics disregard

A. social conventions

B. anything extraordinary
C. being conscious

D. respect and love

Ans:

lll. Richard Colson was
A. old chap
B. amazing person
C. ashrewd and wealthy businessman
D. ordinary town man

Ans:
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VL.

ViL.

VIl

XI.

XIL.

Ans:

Ans:

Ans:

Ans:

Ans:

Ans:

Ans:

Ans:

Ans:

Dickie and his eccentricity

A. had become legendary before he died
B. was most notable

C. very infamous

D. was much disregarded

Dickie disliked intensely.

A. shopkeepers
B. eccentrics
C. snobs

D. assistants

Why do eccentrics win love and respect of others?

Though he owned a large car what did Dickie prefer?

Where did Dickie walk in while he was caught in a particularly heavy
shower?

Worth how much and for whom Dickie wanted to buy a fur coat? Who
refused to serve him and why?

How did Dickie leave the shop? What did he dump on counter while he
returned back?

What did the assistant say on Dickie’s return? What was Dickie’s
request and how did the manager respond?

When Dickie was given the fur coat, what did he do?
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XIll. What did the cloth bag contain and what did Dickie insist?

Ans:

XIV. Why Dickie invited number of important critics?

Ans:

XV. Give a suitable title to the passage.

Ans:

Translate the following passage from Gujarati into English
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Do as directed: (20 x 1 = 20)

Choose the correct answer from the given options and darken (®) the circle
and also write the correct answer in the bracket (CAPITAL LETTER) as per
the sample given below.

Sample Answer.: (C) (A)O (B)O C) e (D)O (E)O

1. He howled in pain. The story was repeated the next day. (Identify
Transitive and Intransitive Verbs)

(A) He howled in pain. The story was repeated the next day.

(Transitive) (Intransitive)

(B) He howled in pain. The story was repeated the next day.
(Intransitive) (Transitive)

(C) He howled in pain. The story was repeated the next day.
(Transitive) (Intransitive)

(D) He howled in pain. The story was repeated the next day.
(Transitive) (Intransitive)

Ans.: ( ) (A\O (B)O ()OO (OO (E)O
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The dhobi (wring) out the clothes by hand. The dress has
(shrink) from washing. (Fill in the blanks with correct form of
verb in the bracket)

(A) wrung, shrunk

(B) wrunged, shrunken

(C) wrung, shrunked

(D) wrungs, shrinks

Ans.: ( ) (A) O (B) O (C) O (D) O (E) O

We appreciate your courtesy. Prabha has written the letter. (Change
the voice)

(A) Your courtesy is appreciated. The letter is being written by Prabha.

(B) Your courtesy has to be appreciated. The letter being written by
Prabha.

(C) Your courtesy is appreciated by us. The letter has been written by
Prabha.

(D) Your courtesy to be appreciated. The letter had been written by
Prabha.

Ans.: ( ) (A) O (B) O (C) O (D) O (E) O

Sunil kicked Raju. The doctor set the broken bone. (Change the voice)
(A) Raju was kicked by Sunil. The broken bone was set by the doctor.
(B) Raju had been kicked by Sunil. The broken bone had been set by

the doctor.
(C) Raju was being kicked by Sunil. The broken bone was being set by
the doctor.
(D) Raju has being kicked by Sunil. The broken bone has being set by
the doctor.
Ans.: ( ) (A) O (B) O (C) O (D) O (E) O
Good, the noise . | can start concentration on my work again.
An important file from my office. (Fill in the blanks with

present perfect continuous in first sentence, present perfect in the
last sentence)

(A) having been stopped, had being disappearing

(B) stops, disappears

(C) stop, disappear

(D) have been stopping, has disappeared.

Ans.: ( ) (A) O (B) O (C) O (D) O (E) O
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Mario in a restaurant when | in London. (Fill in the
blanks with past continuous)

(A) was working, was living

(B) was been working, was been living
(C) worked, lived

(D) had been working, had been living

Ans.: ( ) (A) O (B) O (C) O (D) O (E) O
She left home late morning and hasn’t been seen since. Less
than three quarters of hour later, she was home. (Fill in the

blanks with appropriate articles)

(A) through, an

(B) one, an

(C) the, an

(D) __ _,an

Ans.: ( ) (A) O (B) O (C) O (D) O (E) O

Where do you live? (Identify underlined verb)

(A) Passive verb

(B) Auxiliary verb

(C) Questioning verb

(D) Transit verb

Ans.: ( ) (A) O (B) O (C) O (D) O (E) O

They made me for over half an hour. (Fill in the blank with
appropriate verb)

(A) to wait

(B) waiter

(C) on wait

(D) do waiting

Ans.: ( ) (A) O (B) O (C) O (D) O (E) O

I don’t like . (Fill in the blank using the passive form of gerund)
(A) being lying to

(B) having lying to

(C) being lied to

(D) lying to

Ans.: ( ) (A) O (B) O (C) O (D) O (E) O
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13.

What | remember most is (Complete the sentence using
gerund as complement)

(A) walk along the beach
(B) walking along the beach
(C) to walk along the beach
(D) walks along the beach

Ans.: ( ) (A) O (B) O (C) O (D) O (E) O

Identify grammatically correct sentence with right use of participle

in it.

(A) Onlookers stood watching the Fire. We stood pressed against the
stage. Everyone ran screaming from the stage.

(B) Onlooker stood watched the Fire. We stood press against the
stage. Everyone ran screaming off the stage.

(C) Onlooker stands watched the Fire. We stood press against the
stage. Everyone run screams off the stage.

(D) Onlooker standing watch the Fire. We stand pressed against the
staging. Everyone run screaming from the stage.

Ans.: ( ) (A)O (BO ()0 (DO (E)O

Match the column:

(A) Auxiliary i. means the act of leaving out a word/ words from
sentence, when the meaning can be understood
without it/them.

(B) Imperative ii. means a verb used with main verb to show tense

(C) Ellipsis iii. means a letter or group of letters added to the
end of word.

(D) Suffix iv. means expressing an order.

(A) a -iii, b - i, ¢ -iv, d - ii
(B) a-ii,b-iv, ¢ -1, d - iii
(C) a-i,b-ii, ¢ -iv, d - iii
(D) a-i, b -iv, ¢ - ii, d - iii

Ans.: ( ) (A\O (B)O ()OO (OO (E)O
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14.

15.

16.

17.

Match the column:

(A) Loquacity i. talking to oneself
(B) Soliloquy ii. talkativeness
(C) Ventriloquism iii. art of throwing one's voice

(D) Colloquialism iv. informal expression used in everyday
conversation

(A) a-ii, b -i, c - iii, d - iv
(B) a -iii, b - i, ¢ -ii, d - iv
(C) a-i, b -ii, ¢ - iii, d - iv
(D) a - iii, b -i, ¢ - ii, d - iv

Ans.: ( ) (A)O (BO ()0 (DO (E)O

He said “What a fool | have to deal with!” (Change the narration)
(A) He exclaimed that he dealt with great fool.

(B) He exclaimed his deal with fool.

(C) He exclaimed with surprise that he had to deal with a great fool.
(D) He exclaimed with surprise that he had to deal with a fool.

Ans.: ( ) (A)O (BO ()0 (DO (B0

He wished (blessed) that he might live long. (Change the narration)
(A) He says “May he live long!”

(B) He says “May you live long!”

(C) He said “May he live long!”

(D) He said “May you live long!”

Ans.: ( ) (A) O (B) O (C) O (D) O (E) O

Substitute one word for A heavy mass of snow falling down a hill with
great noise.

(A) Avalanche

(B) Avairy

(C) Arsenal

(D) Avarice

Ans.: ( ) (A) O (B) O (C) O (D) O (E) O
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18.

19.

20.

Identify grammatically incorrect sentence:

(A) Neither he nor | am in the wrong.

(B) Humanity, as well as expediency demands it.
(C) They never fail who die for a great cause.

(D) The fleet are under order to sail.

Ans.: ( ) (A) O (B) O (C) O (D) O

Identify the one which is not an administrative term:

(A) Joining report

(B) Joining pay

(C) Joining work

(D) Joining period

Ans.: ( ) (A) O (B) O (C) O (D) O

Identify the idiom with incorrect meaning:

(A) To bear down - to crush

(B) To bear out - to confirm

(C) To bear up - to keep up courage

(D) To bear upon - to have no connection with

Ans.: ( ) (A)\O (B)O ()OO (D)O

(E) O

(E) O

(E) O
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Ao b=

SECTION-A
Question No. 1 to 10.
Attempt all 10 questions.
Each question carries 10 marks.

P WNR

Answer should be given approximately in 100 to 120 words
apesActil Holl el srulla slAoll crusdloll gsui uxlan s
Review in brief the habitats of Harappan Civilization found in Gujarat.

Rl 2041 U€l Bl 85 1ol stauel, RA[A-YuRel, 3l Qaall [@Qsid v
llalloll 8% clottl udalell a3vltcdoll Ul scll. uAl A

20th century in India was the century of the beginning of laws for rights of women,
situation-correction, development of women education and entry of women in public
life. Discuss.

Aol UaRojl AUy slcllojctoll cllals (QAn Aol uAl R
Discuss the typical features of Padhar dance and Hali dance of Gujarat.

asActoll al€lallell wOURals ollotd gsHl ¥Rl AHRUA o€lall sOUR cus
GUR ol Aull.

Mention in brief about drainage patterns of the river of Gujarat and write a note on
drainage pattern of Sabarmati river.

GSLV (U5l Azl Ao cdlscl) val PSLV (WAR A2clde Al
Slsct) Al dsellsl (technical) dslald AHA.
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U.-10.

Q.-10.

Explain the technical difference between GSLV (Geosynchronous Satellite Launch

Vehicle) and PSLV (Polar Satellite Launch Vehicle).

4D 25l dsellsl ctlal@sdl waudl A 3l fla 3D 2sadldwdl waat
ud B a Mol

Brief about the technical characteristics of 4D technology and explain how it differs

from 3D technology.

A [Bad eaAtol >R U AU Sl AR AHL Al du€la staudlA

GUR ol cul.
Write a note on Parliament activities during a normal day when the session is on.

82 Bctell 2R (PIL) 360 Guaot HoLUSU GUR olltl Aull. 82 (3ctoll
UR%Y SlAL sAL SRRLUR s3 Ad B2

Write a note on the provisions available under Public Interest Litigation (PIL). Who, on

which grounds, can file a PIL?

ellRdMil Alut (A2l A5t (FDIs) ol SlAstat M ual (@A &ML FDIs ol

HATERA sl

Explain the history of Foreign Direct Investments (FDIs) in India and mention the

limitations of FDIs in various sectors.

AlBARUL o3 AU Foslal AlHl2s (NSIL) sl YaH drld YA sl Al
PSLV-C51 GUR ol cull.

Write a note on PSLV-C51, the first launch by New Space India Limited (NSIL) recently.
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(Qeuol-B
1. ustsMis 11 ol 15.
2. otll % 5 Yslloll wcllol culclledl 8.
3. €% Uslell 20 91l B.
4. ogclol AR 200 Ul 250 AGEIHL Awclloll B.
SECTION-B
1. Question No. 11 to 15.
2. Attempt all 5 questions.
3. Each question carries 20 marks.
4. Answer should be given approximately in 200 to 250 words.
W11, || osRidett Rt HZ Aol eui-2azu ua Al (Qdtdair yHstal At 2L /
OBTAINED
MARKS
Q.-11. Explain in detail the architectural form and styles of the ancient temples of Gujarat.
. _ _ §C 310l /
W12, || %olcllotl UsRL AMestall. Ml A Usloll sl UsIRA sl slal 1A B2 .
Q.-12. Explain the types of forests. Where, and which of these types, are found in Gujarat?
Y13, [ WMy 2sellcdly sluel g2l M2 ulcAS 8. URMIY 25clAHl ellkdell
RERAA 22l 52
Q.-13. Nuclear technology is essential for any country. Discuss India’s achievements in nuclear
technology.
Y14, || eiRctett @Rias-Hsldul ullats 2alell oiruslal dotett Ml 8. Ale{l Al
Ul 5ol UYL &% Arlclloll %3 B. HEAIsal 52
Q.-14. The Comptroller and Auditor General of India is a caretaker of country’s financial
system. There is a need to still increase the scope of his powers and duties. Evaluate.
Y.-15. || cdt®cdul 81 Ulet (Scorpene) adlell 2AQL INS AU et dctel eurdla
lsLENoll dAlslcMl cfslerts arl gl 8. AUl 52A.
Q.-15. Due to the recent induction of three Scorpene class INS submarines, the strength of

Indian Navy has strategically increased. Discuss.
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Subject Code : ASM-4
Paper-4 Accountancy and Auditing-I
Total Marks : 200
(Qetot-A
1. ystsuis 1 4l 10.
2. ol % 10 Yslloll ¥cllol Awclall B,
3. €% Uslell 10 91l B.
4. ogcllol 2R 100 Ul 120 AGEWML Avicllell B.
SECTION-A
1. Question No. 1 to 10.
2. Attempt all 10 questions.
3. Each question carries 10 marks.
4. Answer should be given approximately in 100 to 120 words.
Y.-1 “@atoll ol A Uit Hdledls B Ul A UscdML dsil UR AYQl [elRdl
» Andet 94aL /
A Ml B - U 53 ara A
MARKS
Q-1 “Accounting Ratios are mere guides and complete reliance on them in decision-making
is suicidal” - Elucidate. §CL QL /
TOTAL
. . MARKS: 10
Y.-2 “olloll A5LQSIRABN YIloloA UL 12JRJAA §S 6l YA sl AU - ] USHd
917 sl vl
Q.-2 “Small investors should come to capital market via mutual fund” - Do you agree? Give
reasons.
Y.-3 dallogot A oltgl Yot AUl 3cfl A wetol B A yuestal.
Q.-3 Explain how amalgamation is different from “external reconstruction”.
Y.-4 $? ALYl (Tax Planning), $2 A3 (Tax Evasion) el $3 U3l (Tax Avoidance)
A dsleld AAL
Q.-4 Discuss the difference between Tax Planning, Tax Evasion and Tax Avoidance.
Y.-5 sl ARNHL Ag ae ¥cl A Sl2ell Yot:AUYs ue sl otell?
Q.-5 Under what circumstances the retiring auditor cannot be reappointed?
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Q.-10.

el 693 A2A 9?2 Rl sus{luil, 2013 Yol Aol Botauexo{l Al
s,

What is meant by bonus issue? Explain its related provisions as per the Indian

Companies Act, 2013.

“QgHoll ollQUSIA UASlo] 2l wS|e A AsLALSIR, ARLELRL el Vol el

2 s QRAHAHL Horde(l Act B — yHos Al

“The independent audit of an entity’s financial statement is a vital service to investors,

trade payables and other participants in economic exchange” - Explain
Agloled @s AetAx (NSE)ell stalloj [QAUsiieHs Yeliset s3A.
Critically examine the functions of National Stock Exchange (NSE).

ellkcdla susllul 2013 Yool cllselldnat uHA uealloll Ysapllell gl

AL,

Explain preferential payments at the time of liquidation as per the Indian Companies

Act, 2013.

Bauell vaudl ual yeu@st (AN di 9] 130 Hl?2AULEstell VUL Al dotl AUUCLEL

Mol

What do you understand by accounting concepts and conventions? Explain Realization

concepts and its exceptions.
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(Qeuol-B
1. yasHis 11 dl 15.
2. otll % 5 Yslloll wcllol culelledl 8.
3. €35 Uslell 20 JJRL B.
4. ogclol AR 200 Ul 250 AGEIHL Awclloll B.
SECTION-B
1. Question No. 11 to 15.
2. Attempt all 5 questions.
3. Each question carries 20 marks.
4. Answer should be given approximately in 200 to 250 words.
Ao 2L /
Y.-11 U813l GUsSHL A clld>us GusHlell GEA Al dlatell ust3l [Baell A OBTAINED
s Batelledl Acol B - Aci@d eudlal el Qe Aealul Mo Al
§CL QL /
Q.-11. “The government accounting is different from commercial accounting because of M/IF?IQ;LZO
the difference between the objectives of the government and those of commercial
undertakings” - Explain with reference to relevant accounting standard.
W12, || sReLlell s2uatdl otssl sRal M@ sREldlell et puasHl wUiRszudl wldre
Wclloll s Aoitll AotaugSulle] dsul adlet s2A.
Q.-12. Discuss in brief the provisions of partial integration of agricultural income with total
income of an assessee in computing his income tax liability.
W13, || “gURBE A dsnell YSluBeal FEl0Ml AuiHeall qHd sal Well @QlQu
Ug(Alle{l 2uredl sA.”
Q.-13. Enumerate different methods of incorporating risk in capital budgeting decisions under

uncertainty.
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Q.-14.

Q.-15.

Rl aMed wlsrd Baell RAeaidl (GAAP), Aid:AlaA «tusla
Ys2ls20Uell REN (IFRS) el ekl Bautell W (Ind AS) <Al dslald

UMl

Explain the differences between Indian Generally Accepted Accounting Principles
(GAAP), International Financial Reporting Standards (IFRS) and Indian Accounting

Standards (Ind AS).

“Sleflses el AEaAML AsAA ¥RAWRRN U2 ¥ecls Rl (Theories)

Yslal uld 8.7- RRUAN AU Al

“There are few theories which put light on the complexities involved in dividend

decision” — Explain with assumptions.
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Q.-1.

Subject Code : ASM 5
Paper-5 Accountancy and Auditing-ll (Main Examination)

(Qeuwot-A
yatsuis 1 &l 10.
oltl % 10 Yslloll Scllol cvicllell 8.
€35 Uslall 10 QL 8.
ogellol AR 100 Ul 120 ACEML cAvlcllell B.

Ao bd =

SECTION-A
Question No. 1 to 10.
Attempt all 10 questions.
Each question carries 10 marks.

P W NR

Answer should be given approximately in 100 to 120 words

‘€25 ttllal Wdllol watcll QAN AL U USAR dall Sl 8. - AL [Aulotetl Aedl
Geuleol scll AsHHL USAR Ruoll ugld ete sl dwd tauetHi Adtell
URuAe{l (Qrdd ul 82

‘Every Business has its own peculiar feature and Costing Objectives’ - Enumerate
the factors which are to be considered before installing a system of Cost Accounting
in manufacturing organization with reference to above statement.

‘AURAHL GST ML dSAold olollaclloll duHA Ul oD B, L ([Qustsll
QaAstiets Slvuell s

‘It is time to rationalize GST Structure in India’. Critically examine this statement.
9082 W A sl dudl odl Ast ug & - w [@Quietoll Al 52A.
‘Public Expenditure is an ever-increasing Government Activity’ - Discuss this statement.

AHR U [Aelol dUlAall 2Rl A EINL cRlcl ual Aellcetl U d (At
gl ugl aglal.

Explain merits and demerits of Census type v/s. Sample type enquiries and also explain
Probability Sampling techniques.

ARAHL BARMNSIYscd 8AsAAS otlQusla caucdsRla Asal M2 erdla Rad
dsoll st gl

Examine the role of Reserve Bank of India to fraudulent electronic financial transactions
in India.
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Q.-10.

Hidlell Yellojtiotoll QAU uisstauslla ugldA aglal.
Describe different statistical methods of Demand forecasting.

As sUoll UscR Bauotollal dd udl vclle Aal 895 B. Al Suslloll oisl
o28lall JLRNHR 50% & al UM lall JUAl 40% B. $uUs{l3l 3. 2,50,000 il 250
AsHl A2 B. Uclls W ¥ UHde (lgN uglaal w2 suo{lA Jzcll As
olollalall BB, dAHR A URL AALS AUcllell B ¥ AURL UR 10% ol§l sHldall
U2 Sl AsHle] AURL 54 UsAl.

One Company wants to take your advice as a Cost Accountant. The Profit Volume Ratio
of this company is 50% and Margin of safety 40%. The Company sold 250 units for
Rs. 2,50,000. Advice how many units should be produced to reach Break-Even Point.
You have also to advise required sales in units to earn a Profit of 10% on Sales.

‘AR 2wl Aol 52 UR 5ell UUR §2 scll daAlR scMl wucl B - Al
Quttetal M AR Acll 52 (GST) ddld aglell A 2wutell Yyt clal@sdi
UR yuslal wsl.

‘The Scheme of Input Tax Credit (ITC) is designed to avoid cascading effect of taxes’ -
Explain this statement in the light of salient features of Input Tax Credit under Goods
and Services Tax.

‘XBRL (Extensible Business Reporting language) A yHA(l Hiol & - XBRLA
YlRleel aucl kol QQu [eias draldlA lad QY wateel ded
L [Qutotoll uAl s

‘XBRL (Extensible Business Reporting language) is the need of the hour’ - Explain this
statement with reference to different actions taken by different regulators in India for
the Promotion of XBRL in India.

AR uBa A YRl sal, Al wudl, aollsQl U sles Uil YU
87, - ulisstaulla [@QeAnetett Aeel Al WA YAl e3sel 1ot gl
aglel.

“Processing of data implies editing, coding, classification and tabulation”. Describe in
brief these four operations pointing out the significance of each in context of statistical
analysis.
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Q.-11.

Q.-12.

Q.-13.

Q.-14.

(Qewot-B
ustsuis 11 &l 15.
oltl % 5 Usllell ¥cllol Aucllall 8.
£5 Usloll 20 Ol ©.
ogcllol AR 200 Ul 250 AGEML cAvlcllall B.

Ao bd =

SECTION-B
Question No. 11 to 15.
Attempt all 5 questions.
Each question carries 20 marks.

P W NR

Answer should be given approximately in 200 to 250 words

“(Cot-As@Act BAolHL UsAR A atlRusla Buelle] Anar] 539 widAs B”. L
Qutetal Anaell Uussell Hocel A ¥3R2lcell A UMl

“It is essential to reconcile Cost and Financial Accounts in Non-Integrated Accounting”
- Explain this statement by describing Importance and requirement of Reconciliation
Statement.

HIA ol Al 52 sLAEL B cdlcl YRasl, Yaslall UsiA ual da cddldl ot
Auedl,

Explain supply, types of supply and related provisions under Goods and Services
Tax Act.

ilalLgla Aol AxsI2A o{l[A AsAsel Ys 8 Ayl A ([QAwenAl ool 2
Qutotell Qe AUl 5A U ARl UIR gLl COVID-19 AUed A& @
GLRL AUUWAA YU tl? UR Uslal WSl

‘Monetary and fiscal policies are complementary, and not contradictory to each
other.” - Elaborate this statement and also throw light on Fiscal Policy Responses of

Government of India to COVID-19.

ARl Rl Aosloll [Aetatell ollld uR uAl 52A Al ewRdul dlEoL Getloi
Qe el s3cAldRBlell dAlBclRell Yclldl UR Uslal wsl.

Discuss on Policy of mergers of Nationalized Banks in India and throw some light on
recent trends in mergers and acquisitions in the banking industry in India.

5L OUAUaL USAR dsotl 23U (A sl W AHA Al

Explain the nature of short run cost curves with diagrams.
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